Timely Practice ratio strand 5 new learning questions

NO calculator practice

1. A fruit basket contains plums and apricots only.
There are 6 plums.
There are 18 apricots.
Write down the ratio of the number of plums to the number of apricots.

Give your ratio in its simplest form

1. .o
2. An estate agent rents houses and flats.
They rented out 135 flats last year.
They rented out 45 houses last year.
Write down the ratio of the number of flats to the number of houses.
Give your ratio in its simplest form
2.

3. There are blackcurrant and lime sweets in a jar.
There are 27 blackcurrant sweets.
There are 18 lime sweets.
Write down the ratio of the number of blackcurrant sweets to the number of lime sweets.

Give your ratio in its simplest form

Answers: 1) 1:3 2)3:2 3)3:1
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